< 00, > (M)

<o @> (rad)
o
=
a1

o
[N

o
N

...............................................

...............................................

o
o1

+
1
FFETTT R 11T B
T
C 4
0 19 O I O O O
4. )
M -~
:
A

=
iN

1

2 3
TPlpoT (PCA t%obeamlinélf)

=
o
N

< dcotl>)
o
=
a1

................................

................................

1

TPlpOT (PCA

3
Hheamiindf

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWP

100

<opyp, > ()

Ratio

F L E F : :
80 1t R 1 e X’ 80 I R S
60F - |{{1 20] [RRE SO 3" 60FHF | ETTRRIE SO
4Tk : < E * :
40F 3 A e & 5 i R e v 40 1 R A
20F AT oo 20F-H{FH{ oo b
O~ (1L b 20 REEITIE SRS OF 11 £ R
-20F-|{t o[ -20F i3 e
-40F--- 11} B[ -40F o
-60F R ROk SERTERERS -60F e
-80F Mo -80F S SAMAETES
100: Ll |! L g il 1 |||||||! L 9_100: L b ] 1 L1 |! 1 |||||||! L
oF- S 2 E S S O (AP P P PP T 1 E I
N HES o E T B
1:—- 1- --;0 o4 0- 4»-05---0 --------- . ------------ 0.5 :_"“ """"""""""""""""
o q14 : oF :
1 2 3 -1 2 3
10 ! TPlp?T (PCA tjbobeamliné'f) 10 ! TPlp?T (PCA tjbobeamliné'f)
2r "
1.5 4 -1 -------------------------
1 : e
0.5+ --HH] g
oF e
-0.5F LR R SRS
- e LT
“Eens gy
_15:_ ...... <+ ' .........................
ok | i |
LA 0 B O 0 R R
1.2f--H 4o L UL L R S
S P 1 1

0.8 *
107 1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


